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Tha frgtrrE ln tB ,n&rgt r lndlc4.te
full ttutks Jor thc guestlont,

Ans1.aer an11 Jlvc questiorrs.

1. fal What is two-phase locking protocol ?
Explain conservative, strict and
riggrous two-phase locking protocols,

2+6=8

(b) W})y concnrlenc!/ contiol is needed ?
E Alain the lost update problem Pith a
suitable example. 2+7=9

1c/ What are the desirable properties of a
trensaction ? 3
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7. Write short notes on the following:
(urg tou, 5x4-2O

fil DBMS L€ngu€ges

lfrl Qucry optimization

lfo/ Data independence

It, Fourth normal form

P/ DdMS approach us traditional file
processing

{vi, schedules of transactioD.
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